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1.

10.

11.

12.
13.

Which of the following is equivalent to 12 in decimal? (a)(1110), (b)(C)16 (c)(15)s
(d)None of the above

How many symbols can be represented by a bit pattern with ten bits? (a)128 (b)
256 (c)512 (d)1024
Suppose we will like to redesign the ASCII code. If the new ASCII code for E is
1000101, then the ASCII code for e is? (a)1000110 (b)1000111 (c)0000110
(d)1100101

Which number representation methods is often used to store the exponential
value of a fractional part? (a) unsigned integers (b)two’s complement (c) Excess
system (d)None of the above

If the exponent in Excess_127 is binary 10000101, the exponent in decimal is?
(@)6 (b)7 (c)8 (d)9

Which one is a stand-alone storage location that holds data temporarily. (a)An
ALU (b)A register (c)A control unit (d) A tape drive

A control unit with five wires can defineupto ___ operations. (a)5 (b)10 (c)16
(d)32
The smallest storage area on a magnetic disk that can be accessed at one time is a

? (a)track (b)sector (c)frame (d)head

How many inner nodes would a quadtree with n leave nodes have? (a)n-1 (b)n/4
(c)(n-1)/3 (d)(n-1)/4
How many comparisons are needed of a binary search in a 2000-student array to
find a student’s information? (a)21 (b)17 (c)15 (d)11
If we use bubble sort to sort the following six number ( 30, 6, 79, 1, 27, 33 ) with the
order from small to big. How many interchange operations would be performed? (a)3
(b)7 ()10 (d)15
Three nodes can compose ___ kinds of binary tree? (a)5 (b)6 (c)7 (d)8
Given a postfix statement “52*4+63*-78*+”, what is its value? (a)52 (b)2 (c)193
(d)-14
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14. How many nodes are included in a complete binary tree with k leave nodes? (a)k?
(b)2* (c)logzk (d)2k-1

15. Consider the C program on the right side. What will be printed on the screen after
the program finishes execution?

(a) -1 struct point { int x;};
(b) 2 p { ’}1
0 . .
Eg; 1 int main() {_
(e) None of the above struct point *p;
struct point q;
(*(&0))-x=2;
p= &Qq;
g.X= (&Q)->x-1;
16. Show what is written by the following printf(*'%d", p->x);
segments of code, given that item1, item2, and return 0;
item3 are int variables. }

StackType<int> stack;
using namespace std;
iteml = 4;

item3 = 0;

item2 = item1 +1;
stack.Push(item2);
stack.Push(item2 + 1);
stack.Push(item1);
stack.Pop(item2);
iteml = item2 + 1;
stack.Push(item1);
stack.Push(item3);
while (!stack.ISEmpty())

{
Stack.Pop(item3);

¥

cout<<item3;

What value will be printed on the screen after running the above code?
A 0

B. 4
C. 5
D. 6
E. None of the above
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17

18.

listData

25 930.9 45.9 60.9 65.9 80

ptrl ptr2
What will be the value of the following expression:
listData -> next -> next -> info

25
30
45
60
None of the above

mooOwp

Using the following function answering question below:

int Puzzle(int base, int limit)
{
if (base > limit)
return -1;
else if (base == limit)
return 1;
else
return base * Puzzle(base+1, limit);

B

What would be written by the following call to the recursive function Puzzle?

cout<<Puzzle(4, 7);

100

40

120

250

None of the above

moow>
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19.

inti=1,
int Ans =1,
while (1<6)
{
i++;
Ans--;
do
{
i++;
Ans++
} while (i<4);
}
What will be the value of Ans after executing the code?
A 0
B. 1
C. 2
D. 3

.~ %3 (24%) (no partial credit)

20. The datain ___ would not be erased if the computer is powered down. (a)RAM
(b)ROM (c)a tape drive (d)a CD-ROM

21. Which are the main steps in the running of a program on a computer? (a)complier
(b)execute (c)fetch (d)decode

22. When a fractional part is normalized, the computer stores the ?(a)sign
(b)exponent (c)mantissa (d)None of the above

23. Which are not the units of data transferring? (a)BPI (b)CPI (c)BPS (d)CPS

24. CPU is composed of which of the following element(s)? (a)ALU (b)I/O (c)CU
(d)RAM

25. Which of the following are/is the standard(s) of LAN? (a)Ethernet (b)Token
ring(c)ARCnet (d)Seednet



